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Answer all the questions. Out of the four alternatives given for each only one option
is correct. Wrong answers carry no negative marks. Each question is of two marks,
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| Calls-in-arrear related to—

(«1) Loan to members 1 (k) Share Capital =
() Credit Sales 7 (d)Deposits, ]
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2. What is debenture for a Land Development Bank —

() Share Capital ] (b)Subsidy il |
{¢) Loan [ (d)Donation. =4
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3. Ina Co-operative Society, where the State Government has not contributed any share capital,
what percentage of net profit is to be appropriated to "Share Redemption Fund"—
() 0% 1 (B)10%

(c) 5% [ (d)25%.
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4. Long Form Audit Report is essential in case of audit of —

(e} PACS 1 (b)Marketing Societies 3

(¢} Industrial Societies [ (d)Co-operative Banks. ]
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5. Which of'the followings is not included in a Trial Balance—
(@) Opening Cash Balance [ (b)Closing Cash Balance
(c) Bank Balance 1 () Provisionfor N.PA,
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6. Choose Personal Account from the followings—
(¢2) Purchases Alc ] (&) Sundry Debtors Adc
(c) Land A/c [ (d) Salary Alc.
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7. "Additions to Buildings" will be transferred to—
(@) Trading A/c [ (b)Profit& LossAle
(¢) P&L Appropriation Alc [ (&) Assets side of Balance Sheet.
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8. At what rate depreciation is to be charged annually on Furnitures & Fixtures—
() 10% 1 (B)5%
(c) 20% ] (d)25%.
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9. Bank Recanciliation Statement is—
(@) A statement of transactions with Bank
() A statement of differences in transactions in a Bank Account as per society’s records
Bank Pass Book
(¢} A statement of total debits and eredits in Bank Account for a particular period
(¢f) None of these,
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10. Balance Sheet of a Society is—

() A Statement of annual receipts and payments ]

(b) A Statement of annual achievements ]

(¢) A Statement of annual tumover —

(d) Amirror of financial health of the Society on a particular date C]
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11. Cost of production includes—

(@) Prime Cost+Office Oncost 1 (&) Prime CosttFactory Oncost ]

(¢} Factory Cost+Office Oncost [ (d) Factory Oncost+Office Oncost ]

IO @ H e g A

(%) wam T =1 ] (=) woF armided =@ =

(n) el TRl = [ (%) it st = £
12. Which of the following is the most important factor of cost of production ina factory—

(@) Direct Wages 1 () Direct Expenses 3

(¢) Factory Oncost - 1 (d)Direct Materials. =
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13 Cost of production of 100 cars is Rs. 1,00,00,000 and selling expenses is Rs. 50.00,000. 20%

14

profiton total cost is charged. Invoice price per car will be—

(a) Rs. 1,70,000 ] (P Rs. 1,800,000 ]

{¢) Rs. 1,20,000 ] (d)Rs 1.60.000 =
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Ina coal mine wages is paid @ Rs. 100 per hour per laboures. 10 labourers worked for 4

hours each on each day for 10 days. Total wages paid was—

(a) Rs. 40,000 1 (h)Rs. 10,000 -

() Rs. 4,000 1 (d)Rs 1,00,000 —_
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15. The post of Comptroller and Audit General is—
(@) Created by Parhament
(h) Created by Central Cabinet
(¢) Created by Central Finance Ministry
(d) Constitutional post.
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16. How many Auditors General are in Bihar—

(a) One ] (b)Two

(c) Three ] (d)None.
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17. Choose the Capital Expenditure of the Government from the followings—
(a) Contruction of Railway Lines [  (b) Fertilizer Subsidy
(¢) Pay & Allowances of Employees ] (d) Flood Relief.
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18. Which of the followings have to be mentioned in a Treasury Challan—
(@) Minor Head and Sub-Head. []  (b) Major Head

(¢) Code No. 1 (d)Allofthem.
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19. The audit report of the State Government accounts is submitted by the Accountant General

to—

() the Speaker of Legislative Assembly

(#) the Governor of the State

(¢) the Chief Minister

(d) the Chairman of the Public Accounts Committes.
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20. Who is empowered to order Special Audit of a Co-operative Society—
(a) Secretary to the Government [  (b) Registrar
(¢) Joint Registar (Audit) [ (@) District Audit Officer.
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21. The Chief Executive of a Co-operative Society withdrew Rs. 50,000 from Society's Bank

Account but did not enter it in the Cash Book. What action should be taken against him by the

Administration?

(a) F.LR. ' 1 (b)Surcharge Case 1

(¢) Criminal Case & Surcharge Casef—]  (d) Departmental Proceeding. . .
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22. On which side of the Profit & Loss Account net profit for a certain period appears ?
(a) Debit Side 3 (b)CreditSide (.
(e) Asa foot note 1 (d)Bothsides. -
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23, APACS to get 'C' audit classification must secure a minimum of .......... percent marks—
(a)45% 1 (b)60% —
(€) 35% 1 (d)30%. ]
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24. The annual audit fee for audit of a co-operative society by a Chartered Accountant is to be
fixed by—
() Registrar 1  (b)Chairman of the Society ]
(¢) Managing Committee 1 (d)Annual General Meeting.. ]
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25, The Bihar Co-operative Societies Act, 1935 makes it compulsory to invest at lease........percent
of Reserve Fund outside the business of the Society—
(a) 60% 1 (B30% —
(c) 100%. ] (d)0%. —
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Short answer type questions/e 3wy w77

Answer any four of the question given below. Each question is of five marks.
Fretfra woi o # el o wwl @ 3w 2 | ueE v i st ow ¥ (4%5=20)

Treasury verification is considered necessary in a Government system of audit. Please
descuss.
WA ATE WO F FHEN FEAT e w4 # | 5 e |

Amendments in Bihar Co-operative Societies Act, 1935 in 2013 have changed the role of
the Government Co-operative Auditors. How ?

Tem, Tl wfEfmT afafem, 1935 4 od 2013 ¥ € Fei F = T men s =
wfterr o witeds s # 0 #4 2

How an auditor should audit the accounts relating to the trading business done bya
PACS ?
faell Tom F st swEm & T w A U dRuF ) 8w i 7

Discuss the importance of maintaining a General Ledger in a co-operative society.
wrwl Aiafa F SE S F UeE % TEe w1 9v #6E0

What do you mean by Adjustment Entries before finalisation of vearlv accounts 7 Give
three examples of adjustment items.

e wiEn 7= & gE F T weEen wEted @ o wwn € 7 99 s 51w sese
& |

Direct Labour is next to only direct materials in cost of production of a product. What
control can be exercised to minimise cost over this item 7
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Write short notes on any two of the followings—

(1) Contingeney Non-contract (£) Advance Adjustment

(¢) Embezzlement (d) Verification of closing stock-in-trade.
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Long answer type questions/d swita v

Answer any two questions. Each question is of fifteen marks.
ot & wvAl T A HE TV U 3 W E | (2x15=30)

What are the duties and rights of a Co-operative Auditor.
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Writea critical observation of Profit & Loss Account of a working Co-operative Society.
wmﬁmmim—mmmwm—ww |

Describe the utility of book-keeping and accoun tancy in any institution,
ft ot wer & yeren O wEreR #t vt = E 2 swer avi =t

What do you know about supplementary budgets of the State Government ? Howand by
whom they are passed ? _
mm%-ﬂmm—wémwmﬁﬁ?ﬁaﬁtmﬁmﬁmﬁw
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